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230(22sSEs ) 324,164 348,376 124,212
=2 74,326
= 20,338
2 229,500
LT 228,756 234,572 15,816
= 1,756
2 227,000
201 Y2 ] 556 337 219
= 556
01 At 22l 556 337 219
Oz 556
= 556
202 01 1,200 1,000 200
= 1,200
01 =UhoIHl 1,200 1,000 200
0023 1,200
= 1,200
308 XHXIEHHIS 223,000 215,232 7,768
05 RXISHATS S 223,000 215,232 7,768
0230 ARHIRES 223,000
802 vt 2| Et 4,000 4,000 0
02 Al - EHEX3pte 3 2,000 2,000 0
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03 B2LSS 2,000 2,000 0
Opter3 2,000
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2 45,486
= 11,372
307 212+0| ™ 56,858 49,390 7,468
2 45,486
= 11,372
NIEEEE 56,858 49,390 7,468
O opol 30,000
2 24,000
= 6,000
o=ols 15,000
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= 5,486
= 1,372
O2 | 5,000
= 4,000
= 1,000
AYMESRX 35,050 35,460 A410
= 28,040
= 7,010
307 12+0IH 35,050 35,460 A410
= 28,040
< 7,010
01 A2LRZHI 35,050 35,460 A410
OALME KNI 35,050
=2 28,040
= 7,010
JRITOIHAX B2 N 1,000 1,000 0
= 800
= 200
501 SX2 1,000 1,000 0
= 800
= 200
01 BIHSXS 1,000 1,000 0
OCAESHHAR HES 1,000
= 800
= 200
ol bl 2,500 2,500 0
801 OfltilH| 2,500 2,500 0
01 oIt 2,500 2,500 0
ool 2,500
HHS AP (FOME XA D) 41,772 0 41,772
= 21,686
= 20,086
L NIEEEECELR) 41,772 0 41,772
= 21,686
= 20,086
olzi 2yl 41,772 0 41,772
= 21,686
= 20,086
101 Q11| 41,772 0 41,772
= 21,686
= 20,086
03 RIIHAZZ NS 41,772 0 41,772
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